# z Transform (5B)

.

Young Won Lim 2/26/13 Copyright (c) 2012, 2013 Young W. Lim.

Permission is granted to copy, distribute and/or modify this document under the terms of the GNU Free Documentation License, Version 1.2 or any later version published by the Free Software Foundation; with no Invariant Sections, no Front-Cover Texts, and no Back-Cover Texts. A copy of the license is included in the section entitled "GNU Free Documentation License".

Please send corrections (or suggestions) to youngwlim@hotmail.com.

This document was produced by using OpenOffice and Octave.

Young Won Lim 2/26/13

### **Power Series**

A power series in powers of  $(z-z_0)$ 

$$\sum_{n=0}^{\infty} a_n (z-z_0)^n = a_0 + a_1 (z-z_0) + a_2 (z-z_0)^2 + \cdots$$

A power series in powers of z  $(z_0 = 0)$ 

$$\sum_{n=0}^{\infty} a_n z^n = a_0 + a_1 z + a_2 z^2 + \cdots$$

## **Taylor Series**

A power series in powers of  $(z-z_0)$ 

$$\sum_{n=0}^{\infty} a_n (z-z_0)^n = a_0 + a_1 (z-z_0) + a_2 (z-z_0)^2 + \cdots$$

The Taylor series of a function f(z)

$$f(z) = \sum_{n=0}^{\infty} a_n (z - z_0)^n$$
  $a_n = \frac{1}{n!} f^{(n)}(z_0)$ 

$$f^{(n)}(z) = \frac{n!}{2\pi i} \oint_{C} \frac{f(w)}{(w-z)^{n+1}} dw$$
$$a_{n} = \frac{1}{n!} f^{(n)}(z_{0}) \quad \square \quad a_{n} = \frac{1}{2\pi i} \oint_{C} \frac{f(w)}{(w-z)^{n+1}} dw$$

4

### **Maclaurin Series**

A **power series** in powers of z

$$\sum_{n=0}^{\infty} a_n z^n = a_0 + a_1 z + a_2 z^2 + \cdots$$

The Maclaurin series of a function f(z)

$$f(z) = \sum_{n=0}^{\infty} a_n z^n$$
  $a_n = \frac{1}{n!} f^{(n)}(0)$ 

$$f^{(n)}(z) = \frac{n!}{2\pi i} \oint_C \frac{f(w)}{(w-z)^{n+1}} dw$$

### Laurent's Series

$$f(z) : \text{analytic in the region R}$$
  
between circles  $C_1, C_2$   
centered at  $z_0$   

$$f(z) = \sum_{n=0}^{\infty} a_n(z-z_0) + \sum_{n=1}^{\infty} \frac{b_n}{(z-z_0)^n}$$
  

$$= a_0 + a_1(z-z_0) + a_2(z-z_0)^2 + \cdots$$
  

$$+ \frac{b_1}{(z-z_0)} + \frac{b_2}{(z-z_0)^2} + \cdots$$
Principal part  

$$a_n = \frac{1}{2\pi i} \oint_C \frac{f(w)}{(w-z)^{n+1}} dw$$

$$b_n = \frac{1}{2\pi i} \oint_C (w-z)^{n-1} f(w) dw$$

# Laurent's Theorem – Coefficients a<sub>k</sub>

$$f(z) : \text{analytic in the region R}$$
  
between circles  $C_1, C_2$   
centered at  $z_0$   

$$f(z) = a_0 + a_1(z-z_0) + a_2(z-z_0)^2 + \cdots$$
  

$$+ \frac{b_1}{(z-z_0)} + \frac{b_2}{(z-z_0)^2} + \cdots$$
  

$$f(z) = \frac{1}{2\pi i} \oint_C \frac{f(z)dz}{(z-z_0)^{n+1}}$$
  

$$f(z) = \sum_{k=-\infty}^{\infty} a_k(z-z_0)^k$$
  

$$a_k = \frac{1}{2\pi i} \oint_C \frac{f(z)dz}{(z-z_0)^{k+1}}$$

7

## Residue

$$f(z) : \text{analytic in the region R}$$
  
between circles  $C_1, C_2$   
centered at  $Z_0$   

$$f(z) = \sum_{k=-\infty}^{\infty} a_k (z - z_0)^k \qquad \qquad a_k = \frac{1}{2\pi i} \oint_C \frac{f(z) dz}{(z - z_0)^{k+1}}$$
  

$$coefficient \ a_{-1} \text{ of } \frac{1}{(z - z_0)} \qquad \qquad a_{-1} = Res(f(z), z_0)$$
  
: residue of the function  $f(z)$  at the isolated singularity  $z_0$   

$$\oint_C f(z) dz = 2\pi i \operatorname{Res}(f(z), z_0)$$

## z Transform (1)

Laurent Series

The power series representation of f(z)

$$f(z) = \sum_{k=-\infty}^{\infty} a_k (z-z_0)^k \qquad a_k = a_k$$

$$a_{k} = \frac{1}{2\pi i} \oint_{C} \frac{f(z)dz}{(z-z_{0})^{k+1}}$$

$$z_0 = 0$$

$$f(z) = \sum_{k=-\infty}^{\infty} a_k z^k \qquad a_k = \frac{1}{2\pi i} \oint_C \frac{f(z) dz}{z^{k+1}}$$

$$n = -k$$

$$f(z) = \sum_{n = -\infty}^{\infty} a_{-n} z^{-n}$$

$$a_{-n} = \frac{1}{2\pi i} \oint_C f(z) z^{n-1} dz$$

**z Transform** of  $a_{-k}$  A transform of a sequence of numbers  $a_{-k}$ 

## z Transform (2)

Laurent Series

The power series representation of f(z)

$$f(\boldsymbol{z}) = \sum_{k=-\infty}^{\infty} a_k (\boldsymbol{z} - \boldsymbol{z}_0)^k$$

$$a_{k} = \frac{1}{2\pi i} \oint_{C} \frac{f(z) dz}{(z - z_{0})^{k+1}}$$

$$z_0 = 0 \qquad n = -k$$

$$f(z) = \sum_{n=-\infty}^{\infty} a_{-n} z^{-n} \qquad a_{-n} = \frac{1}{2\pi i} \oint_C f(z) z^{n-1} dz$$

**z Transform** of  $a_{-k}$  A transform of a sequence of numbers  $a_{-k}$ 

$$\mathbf{X}(\mathbf{z}) = \sum_{n=-\infty}^{\infty} \mathbf{x}[n] \mathbf{z}^{-n} \qquad \qquad \mathbf{x}[n] = \frac{1}{2\pi i} \oint_{C} \mathbf{X}(\mathbf{z}) \mathbf{z}^{n-1} d\mathbf{z}$$

**z Transform** of x[n]

## z Transform (3)

#### **Laurent Series**

$$f(z) = \sum_{k=-\infty}^{\infty} a_k (z-z_0)^k \qquad a_k$$

$$a_{k} = \frac{1}{2\pi i} \oint_{C} \frac{f(z)dz}{(z-z_{0})^{k+1}}$$

**z** Transform of  $a_{-k}$   $z_0 = 0$   $x[n] = \frac{1}{2\pi i} \oint_C \frac{X(z) dz}{z^{-n+1}}$ 

### **z Transform** of x[n]

## Inverse z Transform

Inverse z Transform

$$x[n] = \frac{1}{2\pi i} \oint_C X(z) z^{n-1} dz$$

#### References

- [1] http://en.wikipedia.org/
- [2] J.H. McClellan, et al., Signal Processing First, Pearson Prentice Hall, 2003
- [3] A "graphical interpretation" of the DFT and FFT, by Steve Mann